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A AR =X
M At SX S

SRl ALSISX AHIA &4 (el &)
_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES O AF K Ofl At ot HwsZ
AP = X1 D 277,388,422 290,632,901 A 13,244,479
= 206,851,080
pJ 1,797,000
2 553,373
[ 60,491,969
2 7,695,000
A3lZ2X SEXA 11,416,406 11,527,818 A111,412
= 9,450,000
s 11,000
= 1,955,406
MBS MHIA B4 11,166,210 11,289,622 A 123,412
= 9,450,000
2 11,000
[ 1,705,210
SXUHBEHA 25 29 8,000 8,000 0
201 LBty 8,000 8,000 0
01 AR 2teld| 8,000 8,000 0
OAM3IZ2XZ20F 248 HAHEA 29 8,000
KA MHIA ETAIY S 10,582,860 10,814,892 ~232,032
= 9,450,000
[ 1,132,860
307 2120l & 214,285 0 214,285
= 150,000
[ 64,285
10 MBI =X 214,285 0 214,285
OXGAB MHIATI BT 29 214,285
= 150,000
[ 64,285
308 AHXI SHHIS Ol & 10,350,575 10,814,892 N464,317
= 9,300,000
[ 1,050,575
01 RHXSHBAEES 10,350,575 10,814,892 A464,317
OXIZAS MHIA EXHALY 10,350,575
= 9,300,000
[ 1,050,575
402 BIZEXH2 0| & 18,000 0 18,000
01 IRt E X 18,000 0 18,000
OXNAAMBIMHIAXIRAS AR JIs22 18,000
ZELANE SN 2Y L AIBIS QIR0 22 297,350 297,350 0
AL
307 2I2tol A 297,350 297,350 0
10 MBI SXEE 297,350 297,350 0
OEgAMEExEs 29 161,000
OAZIEXAIE 2204 824 28 2 &84 26,350




A AR =X
M A2 SX S

SRl APEI= X MUIA S (25 &2
_ _ _ Muo
SA-BH.C(BH) - HRAY - B O AF o8 il i~ o Hnz2
OAEI=XIS 2 sAt X 30,000
OEZZECHY] 29 80,000
MEISTHBHE 29 47,250 47,250 0
= 11,000
= 36,250
307 21201 & 47,250 47,250 0
= 11,000
= 36,250
10 ASI =X 2 X 47,250 47,250 0
OAM3IZX Z2HEH 29 47,250
= 1,000
= 36,250
NSAMSI =X RE 200,000 100,000 100,000
301 YBrE A2 20,000 20,000 0
12 DBt 42 20,000 20,000 0
O°l22 =0 923 N 20,000
308 X+XIEHHISOI & 180,000 80,000 100,000
NP ENEES 180,000 80,000 100,000
OXNYAMEI=STEAH 2 80,000
OX =X s I X 100,000
SN HLSH 30,750 22,130 8,620
201 YEr2gy| 19,400 10,780 8,620
01 AtR2t2IH] 19,400 10,780 8,620
OMSIZRAE B 25 19,400
203 &R = H| 11,350 11,350 0
03 Al EZ R E & H| 1,350 11,350 0
O=X22 Ye= 8,500
OANEI=X ez 2,850
ABIZX NS =5 2 X2 250, 196 233, 196 2,000
MBISTIAIE MBX 912 50,000 50,000 0
301 YerB A 50,000 50,000 0
01 MBI 2 = 4513 50,000 50,000 0
SNEEERESCE 50,000
BB JIs2Y 165,000 53,000 12,000
403 HXI SRS KH 0l & 165,000 53,000 2,000
01 XFXISHRIXH2 2 X 165,000 53,000 2,000
OZEMEI=XT Jls2Y 153,000
OSLAMEI=X 24 2,000
ZEMNISNB 228 HSHH L HRH 25 35, 196 35, 196 0
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402 BI 2201 & 68,937 8,500 60,437
01 BIZtAt=E = 68,937 8,500 60,437
Ot MRA JISEZX 68,937
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O=Ir3A A& 83, 100
307 212+01 A 79,000 79,000 0
01 I 2€+=Hl 75,000 75,000 0
O=gf3X 2d=H X 75,000
10 A2l S RI2X 4,000 4,000 0
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01 IXHHMBESEXS 63,000 0 63,000
Osse M 30,000
OHEY &8 823 ¢42us JINM #& 18,000
OB HY AL 15,000
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= 869,867
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308 AtXI XSO0l & 115,200 0 115,200
= 115,200
01 IXIEHBAEXZ 115,200 0 115,200
OAtdIZte] Al 29 115,200
= 115,200
222X A W& (2EsE XNGE=2X A 2,877,000 0 2,877,000
&)
= 2,877,000
308 XX S SOl A 2,877,000 0 2,877,000
= 2,877,000
01 AIXISHIBAEXZ 2,877,000 0 2,877,000
O%EE XNE=sXNHMEMA NS 2,877,000
= 2,877,000
ANEZZAISE XA 17,260,620 17,733,936 N473,316
= 15,410, 140
== 1,850,480
308 AAXISHAMSOIA 17,260,620 17,733,936 N473,316
= 15,410, 140
< 1,850,480
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K& AL 22l 106,854 0 106,854
= 88,000
& 18,854
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[ 151,570
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= 606,280
< 151,570
10 AlSISXIE X 757,850 0 757,850
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= 606,280
[ 151,570
INE-PAR-Ful| S E-ape] 2,677,500 2,798,495 A 120,995
= 2,205,000
[ 472,500
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= 2,205,000
< 472,500
01 HXSHNIMNBES 2,677,500 2,798,495 A 120,995
OXNSR2HE 29 2,677,500
= 2,205,000
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SENANSHE A8 1,797,000 0 1,797,000
Il 1,797,000
403 XX SR S K201 & 1,797,000 0 1,797,000
p) 1,797,000
01 RIXISHH A 22X 1,797,000 0 1,797,000
OSXNAXSME HY 1,797,000
p) 1,797,000
SHYANSLE 298 X2 309,400 0 309,400
= 309,400
307 QI2t0I & 309,400 0 309,400
= 309,400
02 QIZtAAE X 309,400 0 309,400
OELZANSHEH2Y 309,400
= 309,400
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= 898,072




SH: AEI= XD
Hm: 20| EMBEE
Sl I EMERY 1 L XS (e @8
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 O A+ 24 il i~ o B2
< 112,259
308 X+XI €I S 01 & 1,010,331 951,091 59,240
= 898,072
= 112,259
01 XIS B A2 XS 1,010,331 951,091 59,240
ORgFAZXA 1,010,331
=2 898,072
= 112,259
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= 114,576
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01 MRS HALRES 1,392 8,328 6,936
O 20l MEAMEAX HSMHLY K 1,392
LS 30,695,307 26,340,571 4,354,736
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= 1,590,876
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2 7,695,000
01 IXHHEHEXZ 14,440,178 13,775,535 664,643
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= 85,176
= 18,252
Oogdits =+ N 918,000
= 756,000
= 162,000
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= 18,900
= 4,050
OOtsZE XA XA 520,200
= 428,400
= 91,800
Osg 29 1A 438,480
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& 136,080
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2 7,695,000
OegstE OtssS4dl XIE S 2,745,000
Olts2=EAld 29| NI 1,262,000
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OFMstE=Z2ZId XA 98,000
OctH+=& =l XA 98,000

FHFIANA 2= 27,200 26,300 900

307 2120 & 12,800 12,800 0

10 At = XX 12,800 12,800 0
O0ts=ETAIE SAL A3 12,800

308 AtXIEtH S 01 & 14,400 13,500 900

01 IXNHHBAEES 14,400 13,500 900
OXSOISHEl XDR0izts| X & 14,400

MWRES (A =X 23,881,699 23,709,827 171,872

LHEHH K= 23,881,699 23,709,827 171,872

=2z=20II= S &= 23,881,699 23,709,827 171,872

701 J1EFSI A 23,881,699 23,709,827 171,872

01 JIEtaIHE &2 23,881,699 23,709,827 171,872
Ooza0¢II2ELEH HNES 23,881,699

HY2IZH(ASI =X 55,780 59,550 A3,770

Jl2ddl (Atsl 2 X 1) 55,780 59,550 A3,770

Jl2Z | 55,780 59,550 A3,770

201 L EH2FH| 26,600 28,500 A 1,900
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